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hyp(t) = 6(t) + woe ™5 @ot [—25 cos+/1— &2 wyt + j%sin (\/1 — Ezwot) -U(t)
AR R+ AT
hps(t) = 6(t) — 28wge—$@ot [cos V1—E&%2wot — \%sin (\/1 — fzwot) -U(t)
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RS=50;  %1&J5 PN BH N B0RK 4kt
f3dB=1E6: %3dB: %7 A 1MHz

kesai=[0.1 sqrt(3)/2 10]; % —Fh[HJE R &I M

Dt=1E-9;
timenum=20000;
f0=£3dB/5; ik ANE S S figure(1)
w0=2*pi*{0; hold on
T=1/10; plot(t,vsl,'k")
for j=1:timenum
t(j)=(-1000)*Dt; figure(2)
if <1000 hold on
vs1(j)=0; plot(t,vs2,'k")
vs2(j)=0; plot(t,vs2n,'b")
slse SH LA S
vsl(j)=1; . .

vs2(j)=0.5+2/pi*cos(wO0*(t(j)-0.3*T))-2/3/pi*cos(3*wO*(t(j)-
0.3*T))+2/5/pi*cos(5*w0*(t(j)-0.3*T));
B 52N A S BUESL M RITHT AT, WENBFES
vs2n(j)=vs2(j)+0.3*sin(50*w0*t(j)+0.5*randn)+0.6*sin(52*w
0*t(j)+0.5*randn)+0.3*sin(54*w0*t(j) +0.5*randn)+0.5*randn;

B ES+E. BHEI1057E
)T+ FE AL =

end
end



for k=1:3

% 5 FERLCEUH MR#E3dBH % FHE R2L.
L(k)=RS*sqrt(-2*kesai(k)"2+1+sqrt((1- BIRAFHTTEBA. HIE

2*kesai(k)"2)72+1))/(2*kesai(k)*2*pi*{3dB);
C(k)=2*kesai(k)*sqrt(-2*kesai(k)*2+1+sqrt((1-
2*kesai(k)"2)72+1))/(RS*2*pi*f3dB);

RCD=Dt/C(Kk); P \/_2 2 14 (22T T2 11
GLD=Dt/L(Kk); L= ’ Ve D

28 w3gp
A=[1 -RCD; GLD 1+GLD*RS];
invA=inv(A);

25\/—252 +14/(—282+1)2+1
C =

Rsw3gp

ve(s)| [ 1 —Rea |7 ([vc@] [ 0
liL(tk+1) _[GLA 1+GLARS] ([iL(tk)]+[GLA]vs(tk+1)>
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L

(tg, tr+) XTE] A AR 43

i, (tks1) i) |
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At
L

Jal=]!

iL:iC:

di
Vs =Vgp + v, +Vc = iLRS+Ld—tL+vC
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ar dve 1
dt C
di;, 1 1 Rs
qat L TrpeTTTh

JiF

_|_

175(tk+1) At

d
o x(0) = f(x(0), 1)

X(trs+1) — x(tg)
tk+1

= f f(x(t), t)dt
t
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64 QST IR L, B BRI N

vC(1)=0; %Hﬁiﬁfﬁ:}'@_zz I 75 R
iL(1)=0; YL?S:)O

x=[vC(1);iL(1)]; x=[vC(1);iL(1)];

for j=2:timenum

x=invA*(x+[0; GLD*vs1(j)]); for j=2:timenum |
vC()=x(1); x=1r.1vA*(x+[O; GLD*vs2n(j)]);
iL(j)=x(2); vC()=x(1);
end iL(j)=x(2);
end
fi 1
1:3111; i(n) figure(5+k)
plOt(t,VC) hold on
plot(t,vs2,'k")
B R 7= A= R A M) oL plot(t,vC,'b)

B 55 R, IEIAT N 2R G 7= 8RR

Vet )| _ [ 1 —Rea 17 [ve () 0
[iL(tk+1)] - [GLA 1+ GLARS] ([iL(tk)] T [GLA] vS(tkH))
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freqstart=£f3dB/100;

freqstop=f3dB*10000;

freqnum=10000;

freqstep=10"(logl0(freqstop/freqgstart)/(freqnum-1));

freq=freqstart/freqstep;

taog(1)=0;

for j=1:freqnum
freq=freqg*freqstep;
f()=treq;

figure(3)
hold on
plot(f,absH) % lEAHFE

s=1*2*pi*freq; Ligure(4)
’ hold on
ks=0.5*RS*sqrt(C(k)/L(k));
WO=1/sqrt L) *C(k)); plot(f,angH)  %HAIHE
H=w0"2/(s"2+2*ks*w0*s+w0"2); f 5
absH(j)=20*1og10(abs(H)): ﬁgl‘ge( )
angH(j)=angle(H)/pi*180; o-c on o) b
if j>1 plot(f,taog) o B ZIE I 4 4
taog(j)=-(angH(j)-angH(-1))/(1(G)-£(-1))/360;

end Wi

end Hs) = s? + 28wys + wi

taog(l)=taog(2); ° 0

end _Rs ¢ 1
$=2 0T T
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vs2(j)=0.5+2/pi*cos(w0*(t(j)-0.3*T))-2/3/pi*cos(3*wO*(t(j)-
0.3*T))+2/5/pi*cos(5*w0*(t(j)-0.3*T));

vs2n(j)=vs2(j)+0.3*sin(50*w0*t(j) +0.5*randn)+0.6*sin(52*w0*t(j)+0.5*ra
ndn)+0.3*sin(54*w0*t(j)+0.5*randn)+0.5*randn;
| \ | | |
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